Wik o)) 35MPa

I9SVTIVEIT oYY

s CQ%*

J 55

® I A7 MRILAMBS T —X)
D) BDEIHADICERA T T DMLY THEEELT
FERALET,

e JSUTF Yk (FNV—X)
RTA R R EEBEOMNBICESE, VU %E
AvY9500RETZOFYRTT,

e 75 oIy (MFU)—X)
BRIZISCTAR I VORIV RNEFERL, VU AHEE
TEEY,

VBSY—X b =157 RE v ERBI
ALk (mm)
E I B DExE®)| E
Bf || BS-42 |M4x07 | 7 8 8 11
A BS-62 |M6X1 8 1 1 14 - ﬂ%
BS-82 |M8x125 10 14 14 17
| BS-102 |M10x15| 65 17 23 11
CE@ BS-162 |M16x2 12 22 22 24 (AL IL 1]
BS-202 |M20x25] 12 24 22 2%
BS—42~‘362 BS-302 |M30x3.5 20 444 60 30
BS-362 |M36x4 | 30 57.2 72 43
VNV —X 7;39‘ B +i v &
[ (mm)
E C 2=t A B C D E E
T FN-22 [M12x15) 28 5 2 6 (T I I
— D4 \ FN-202 |M20x15| 36 6 2.5 8 ‘ ‘
; Al 11 @ \ FN-282 |M28x15| 50 7 3 10 T 1T ]
L FN-302 [M30x1.5 50 7 3 10
e \ ‘ / FN-352 |M35X15| 55 7 3 11
FN-482 [M48x1.5 75 8 35 13
£ c FN-552 |M55%1.5 80 10 4 13
] ol 1T FN-582 |M58X15| 90 10 4 13
= N SARN FN-652 |M65x1.5 95 10 4 14
B A[ —- {) FN-752  |M75%15| 110 10 4 14 §
B= FN-802 |M80X2 | 115 10 4 16
- S \ = FN-902 [M90Xx2 | 120 10 4 16
FN-482~-802
FN-952 |M95%2 | 125 10 4 16
b
E
2 YMFLY—XR TV s ~tik v {E
? ) 772# (mm)
é E K ‘ 2 A B | C D | E F K L
MF-122 |M12x15| 39.9 | 249 | 63 | 24.9 |Max0.7| 249 39.9 g
7:’%}: MF-202 |[M20x1.5| 65.0 | 445 | 101 | 39.9 |M4x0.7| 445 | 65.0
™ MF-282 |M28x1.5] 74.9 | 50.8 | 10.1 | 39.9 |M4x0.7| 50.8 | 74.9
W, c MF-352 |M35x1.5] 80.0 | 57.1 | 101 | 39.9 |M6x1 | 571 80.0
’%@’ MF-422 |M42x1.5] 89.9 | 635 | 101 | 39.9 |M6x1 | 635 89.9 — —
— MF-482 |M48x1.5] 95.0 | 69.9 | 101 | 39.9 |M6x1 | 69.9 | 950
MF-552 |M55x1.5| 110.0 | 82.5 | 11.2 | 44.5 [M6x1 | 825 |110.0
MF-122~-802 MF-652 |M65x15| 1151 | 88.9 | 11.2 | 445 [M6x1 | 88.9 | 115.1
MF-802 |M80x2 | 134.9 [108.0 | 11.2 | 44.5 |M6x1 |108.0 [134.9

293

ENERPAC @ htip://www.apj.ne.jp



